

e-mail: baczaneco@gmail.com

INVITATION TO BID

The Zamboanga del Norte Electric Cooperative, Inc. (ZANECO) Gen. Luna St., Dipolog City invites interested bidders to submit eligibility documents and to bid for the following:

Supply and Delivery of Various Materials for Relocation of Poles by Road Widening at Sto. Niño to Sandayong, Tampilisan ZN

Requisition No.: RV No. D2010-0190

One Lot

Item No.	DESCRIPTION	UNIT	QUANTITY	ABC per Item	TOTAL ABC
1	Anchor, Expanding, 8,000 Pounds, 4 Way, Galvanized Steel	pcs	92	700.00	64,400.00
2	Attachment, guy, Malleable Type with 11/16" Hole Diameter	pcs	92	150.00	13,800.00
3	Bolt, Double Upset, 5/8" X 10"	pcs	33	110.00	3,630.00
4	Bolt, Oval Eye, 5/8" X 9"	pcs	104	90.00	9,360.00
5	Bolt, Oval Eye, 5/8" X 10"	pcs	62	93.00	5,766.00
6	Bolt, Thimble Eye, 5/8" X 9", Straight Type	рс	1	76.00	76.00
7	Bolt Machine, 5/8" X 8"	pcs	142	37.00	5,254.00
8	Bolt Machine, 5/8" X 10"	pcs	85	44.00	3,740.00
9	Bolt Machine, 5/8" X 12"	pcs	66	50.00	3,300.00
10	Bolt, Single Upset, 5/8" X 8"	pcs	25	86.00	2,150.00
11	Bracket, Clevis Deadend without Spool	pcs	85	110.00	9,350.00
12	Clamp, Hot Line, #2-#2/0	pcs	24	475.00	11,400.00



e-mail: baczaneco@gmail.com

13	Clamp, Anchor Rod Bonding, Single Eye	pcs	92	50.00	4,600.00
14	Clamp, Loop Deadend, #2 ACSR	pcs	184	50.00	9,200.00
15	Clamp, Deadend Strain, #2 ACSR	pcs	40	335.00	13,400.00
16	Clamp,Guy Straight, 3 Bolt, Heavy Duty Steel	pcs	186	180.00	33,480.00
17	Clamp, Suspension, Aluminum Alloy Clevis, 2 Bolts, #2 ACSR (Maximum)	pcs	12	405.00	4,860.00
18	Clevis, Secondary Swinging without Spool	pcs	114	77.00	8,778.00
19	Shackle, Anchor, Forged Steel, Galvanized	pcs	12	310.00	3,720.00
20	Conductor, Bare, ACSR #2, AWG 6/1	meters	1,286	28.00	36,008.00
21	Conductor, Insulated, ACSR #2, AWG 6/1 (600 V)	meters	575	46.00	26,450.00
22	Connector, Compression, YHO 125 #6-#2	pcs	281	43.00	12,083.00
23	Connector, Compression, YHO 200, #1/0-#2/0 ACSR Run To #6-#2	pcs	2	82.00	164.00
24	Connector, Ground Rod (Clamp) for 5/8" Steel Rod	pcs	68	25.00	1,700.00
25	Insulator, Pin Type, Porcelain, ANSI, Class 55-5	pcs	91	650.00	59,150.00
26	Insulator, Spool, 1-3/4", ANSI, Class 53-2	pcs	155	27.00	4,185.00
27	Insulator, Spool, 3", ANSI, Class 53-4	pcs	102	48.00	4,896.00
28	Insulator, Suspension, 6", porcelain, Clevis Type	pcs	104	300.00	31,200.00
29	Nut, Eye, 5/8", Conventional	pcs	2	85.00	170.00
30	Nut, Lock, Mf Type, 5/8"	pcs	516	16.00	8,256.00
31	Nut, Thimble Eye, 5/8", Single Eye	pc	1	85.00	85.00



e-mail: baczaneco@gmail.com

32	Pin, Pole Top, Channel, 1" Thread, 20" Long	pcs	91	195.00	17,745.00
33	Rod, Anchor, Threaded, Single Eye, 5/8" X 7'	pcs	92	350.00	32,200.00
34	Rod, Armor, Preformed, #2 ACSR, Single Support	sets	202	300.00	60,600.00
35	Rod, Armor, Preformed, #2 ACSR, Double Support	sets	33	390.00	12,870.00
36	Rod, Tapping, Preformed, #2 ACSR	sets	24	230.00	5,520.00
37	Rod, Ground Steel, Galvanized, 5/8" X 10'	pcs	68	510.00	34,680.00
38	Spacer, Pipe, 3/4" X 1-1/2"	pcs	66	25.00	1,650.00
39	Washer, Square, Flat, 2-1/4" X 2-1/4" X 3/16", 13/16" Diameter Hole	pcs	449	22.00	9,878.00
40	Washer, Square, curved, 3" X 3" X 5/16" with 11/16" Diameter Hole	рс	1	45.00	45.00
41	Wire, Tie, Aluminum Alloy, Soft, #4 AWG	feet	1,288	15.00	19,320.00
42	Wire, Tie, Insulated, Soft, #4 AWG	feet	380	60.00	22,800.00
43	Wire, Tape, Armor, Aluminum Alloy, 0.5" X 0.3"	feet	92	15.00	1,380.00
44	Wire, Grounding, Aluminum Aloy, 3 Strand, #4 AWG	feet	2,641	25.00	66,025.00
45	Wire, Guy, Steel, 3/8", 7 Strand	Feet	4,670	30.00	140,100.00
46	Pole, Steel, 30' (3.0mm)	Pcs	2	14,500.00	29,000.00
47	Pole, Steel, 35' (3.0mm)	pcs	47	17,500.00	822,500.00
				•	1,670,924.00

Note: Certificate of Origin and Test Results must be included in

the Technical Proposal

Source of Fund: DOE & DPWH Funds Amount of Bid Documents: Php5,000.00

Mode of Payment: Within 30days upon 100% delivery

Delivery Schedule: 45 days upon receipt of Notice to Proceed.



e-mail: baczaneco@gmail.com

Bid Validity: 120 days Warranty: 1 year

All Bidders shall be required to include the cost of all taxes such as but not limited to Value Added Tax (VAT), income tax, local taxes and other fiscal levies and duties which shall be itemized in the bid form and reflected in the detailed estimates. Such bids, including taxes, shall be the bases for bid evaluation comparison and for determining the **Lowest Calculated Bid**, *one* (1) lot.

Deadline for the Purchase of bid form	21-June -2021, 5:00 PM
Pre Bid Conference	09-June -2021, 1:00 PM *Bidders are advised to attend the Pre-bid Conference **Only bidders who have purchased Bid Documents are allowed to participate in the conference.
Deadline of Submission of bid	23-June-2021, 12:00 Noon
Opening of Bids	23-June-2021, 1:00 PM
Venue	ZANECO BAC Conference Room

The scope of detailed technical requirements is outlined in the Bid Documents to be provided to all interested bidders upon application addressed to the Chairperson Bids and Awards Committee and/or BAC Secretariat thru Liezel C. Bongcawel e-mail address: baczaneco@gmail.com or Telephone Nos. 212-8294/09703595625 upon payment of the above-stated amount of bid documents.

Also, all concerns shall be clarified and discussed during the Pre Bid Conference. However, only prospective bidders/ authorized representatives who have purchased the bid documents shall be allowed to participate and raise or submit written queries. The procurement shall be bid in accordance with the provisions of R.A. No. 9184.

ZANECO reserves the right to accept and/or reject any bid, to annul bidding process, and to reject all Bids at any time prior to the Contract of Award, without thereby incurring any liability to the affected Bidder(s).

LOU MARVIN D. SAGARIO BAC CHAIRPERSON